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SUBJECT — ENGLISH M.M. -20
Q1. In the sentences below the capital letters, commas, full stops and question
marks are missing. Put these in the correct places.
(a) on monday I will go to school
(b) Rahim ravi and raju are going to see the circus
(c) sita where are you looking
(d) The tailor went to the market mr singh
(e) Sunday I go for a walk have breakfast read story books listen to music
and watch television
Q2. Read the following sentences and identify the type of noun used.
a) Kolkata is the capital of West Bengal.
b) The Royal Bengal Tiger is found in the Sunderbans.
c) The jury gave a unanimous verdict.
d) Laughter is good for health.
e) The crowd is very big.
Q3. Choose the word that best related each analogy.
a. Up is to down as over is to
Under Along Above
b. Big is to small as full is to
filled empty blank
c. Platoon is to soldier as team is to
teacher student player
d. Rock is to heavy as feather is to
light fast rich
e. Tree is to climb as ocean is to
big swim fish
Q4. Write a poster on importance of exercise and fitness.
SUBJECT — MATHS M.M. -20
Q1. Add 22/4 and -5/3.
Q2. Subtract 8/14 from (-4/7).
Q3.Multiply 122/24 and (- 12/10)
Q4 what should be added(-1/4) togetto 1.
Q5 What should be multiply (-2/5) to get (-6/2).
SUBJECT — SOCIAL SCIENCE M.M. - 20
Q1. Write any four factors responsible for Colonialism and Imperialism.
Q2. Why Industrial Revolution is termed as revolution?
Q3. Write the contribution of any 2 sailors in the discovery of new sea routes.
Q4. Describe the categories of resources based on Exhaustibility.
Q5. ‘Indian Constitution is federal in structure’. Explain.



SUBJECT — SCIENCE M.M. -20

Q1 Explain the process of thrashing and winnowing.

Q2 Which type of bad impact of fertilisers are observed on crops?

Q3 write the various steps of agricultural practices.

Q4 Name the product obtained on destructive distillation of coal and give their uses.
Q5 How can you say combustion of fossil fuels is a main cause of air pollution?
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